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V Semester 3 Year LL.B./IX Semester 5 Year B.A.LL.B./B.B.A.LL.B./
IX Semester 5 Year B.A.LL.B. (Maj.-Min.System) Examination, December 2019

Duration : 3 Hours

Opt. —Iil : IPR — | (Old/New)

Max. Marks : 100

Instructions : 1. Answer Q. No. 9 and any five of the remaining questions.

Q. No. 1.

Q. No. 2.

Q. No. 3.

Q. No. 4.

Q. No. 5.

Q. No. 6.

2. Q. No. 9 carries 20 marks and the remaining questions

carry 16 marks each.

3. Answer should be written either in English or Kannada

completely.

What is Intellectual property ? Briefly discuss different forms
of Intellectual property.
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Define patent. What are the rights of patentee ?
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What are the essential features of trade mark ? Explain
different types of trade marks.
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Examine the Jurisdiction of Information Technology Act, 2000.
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Explain the salient features of Geographical Indications
(Registration and Protection) of Goods Act, 1999.
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Explain the need for protection of cyber space under
intellectual property rights.
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Q. No. 7.

Q. No. 8.

Q. No. 9.

Explain important organs of WIPO (World Intellectual
Property Organisation).

28, P08 B3 RoFT Batwed Lorindy, DEIORD.

Write short note on any two of the following :
CIRYTHTER DTRETS 32020 30D WL WSCWD :

(a) Patent Agent
ﬁz:ida BEIQ
(b) Registrable and Non-registrable marks
Speotes @02 Sreotdonnents oksielaf 08

(c) E-Commerce.
DTS TS,

Solve any two of the following problems :
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(a) ‘A’is registered proprietor of Trade mark M-SEAL. ‘B’ adopted
and used mark ‘SM-SEAL’ with all essential characters of
trademark ‘M-SEAL’. Can ‘B’ be restrained from using the |
mark ? Decide. : l
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(b) An employee working for a firm comes out with an
invention after much efforts in the laboratory. But after
the invention, the employer obtains patent in the name
of firm on the invention. Which of the theory supports
employee’s position ?
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(c) The plaintiff holds trade mark on ‘Nammo’. The defendant

begins to use trade mark as ‘Nammo’. The plaintiff
challenges it. Decide.
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